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MATHEMATICS

1. A lot of 20 bulbs contain 4 defective

bulbs. One bulb is drawn at random
from the lot, the probability of this bulb
being defective is

A) = o

20

o [

C) D) none of these

U | £~

If tan (A+B)=J§,tan(A-B)=—1—',

0< A+ B<90° then A and B are

. 2women and 5 men can together finish

an embroidery work in 4 days while
3 women and 6 men can finish in 3 days.
Find the number of days taken by one
woman alone to finish the work.

A) 20 days B) 18 days
C) 15 days ; = - D) 28 days
,,;f
. néa AABC, [C=3B=2(|A+[B), then
A) 1007 B) 120°
C) 110 D) 80°

. WHCF and LCM of ‘a’ and 96 are 4 and

9696 respectively, a =
A) 44 B) 4040
C) 4004 D) 404

TTioTd

| 0Q sred il UH WY H 4 Y § | 58 @9
e ©9 § U SIed epTelT ST &, af 56

arear 3 argqol 1 1 TR
’ 1

A) g ) 20

c) 2 D) s @ g 7E
5

1
> Ffitan (A+B)=/3,tan (A-B) =
J3

0<A+B<90°,alA3MBR

A) 30°,157

B) 30°, 30°

C) 60°, 45°

D) 45°, 15°

3. 2 Afed 3R 5 T¥Y UH Fegrs & w9
4 Te1 1 T S Gehd ©, Saieh 3 ARATE 3T
6 7e9 38 3 fodt o TmT o T E | TH
Afgell g STehel §6 H1 &l g1 L Y
forw s aret Tt <t weer 3@ il |
A) 20 feq B) 18 faq
C) 15 A D) 28 fa3

4. AABCH |[C=3[B=2(|A+|B) g, at
LQ:
A) 100° B) 120°
C) 110° D) 80°

5. Afe ‘a’ 3R 96 & HEY R Ty
A 4 31T 9696 ¥, A a =
A) 44 B) 4040
C) 4004 D) 404



6. If cot® = =, Inen e vdiue vl
' 8

(1+ sin®) (1-sin0)

IS
(1+ cos06) (1-cos8)
my 2 B) 2
64 64
C) % D) none of these
7. Which of the following is not true ?
; 1
30° = —
A) sin .
B) cos30° = —\@
2
C) sin90° =0
D) cos 0° =1

8. The area of a semicircle of a circle
whose circumference is 22 cm is

A) %cm B) 77 cm?
77 T
L D) “Leom?
C) 5 cm? ) 2

9. From a point Q, the length of
tangent to a circle is 8 cm and
the distance of Q from the
centre is 10 cm, the radius is

B) 7cm

D) 18 cm

A) 2CmM
C) 6cm

ation
are roots of the equ
L : c;, B4x _13=0,thenthe value of
x —

0:2_+. [32 iS

B) 7
A) 5

D) -4

5.

10.

418 Cotg =2 gy o ———rs S
8" (1+cosH)(1-cosH)

FTHH &
49 9
A &4 BY =7
c) 2 D) 1 A w7

. Frferfee 3 @ FA-wa TR 7

A) sin30° =

B) cos30°= —*/25

C) sin90° =0
D) cos 0° =1

f% g 1 aftfr 22 cm B, A1 3Tk AT F
SERTRL
77

A) —gcm B) 77 cm*
C) Zzzcm D) Z;cm
fe Q& T g9 W Tl T il A 8 om
2 iz @ QA G 10 cm B, A e
A) 2 cm - B) 7 cm

) 6cm [E]glﬂ D) 18 cm

qﬁa,ﬁﬂmﬂzm«ﬁlx—a:(}%ﬂ@%,

3ﬁ(12+[52ﬁm%
c)3 D) —4

C) 3 SR N PECE 2021



1%

12

13

14.

T

, 5
If SinA = ey 0 <A <90° find tan A.

5
A) — By —
) 5 ) i2
4
C) 12 D) none of these

The co-ordinates of centre of g circle if

extremities of a diameter are (-1, 5) and
(5,—1)are

A) (2.2)

B) (-2, -2)
C) (4,4)

D) none of these

The 30" term of the sequence 10, 7, 4, ..
IS

A) 97
G} 77

B) 77
D) -87

The roots of the equation3x2 — 2x + 1
are

A) real and equal
Ay i .

) |mag|nary' | -
C) real and distinct %
D) none of these |

lFx(x +1) + 8 = (x + 2) (x — 2), then the
value of x is

A) 12
B) —12
C) 10

D) none of these

- The average of 40 numbers is 35. If

two of the numbers 84 and 62 are
not included, then the average of the
remaining numbers is
A) 34

C) 30

B) 33
D) 37

Page No. 5

11.

12

13.

14.

15.

16.

uﬁsinA=%,0{Aﬁ90°ﬁitanAﬁmﬁq

5

A 2 B) 13

C) -1% D) T9H ¥ =13 7
gfe e =@ o B (-1, 5) 3 (5, —1) &,
& 39 g % hg o (T €

A) (2,2) B) (=2,-2)

C) (4, 4) D) 378 ¥ &g AT

@ 10,7, 4, .. F 3091 92 7
A) 97 B) 77
G} 17 D) -87

40 G&IIAT w7 aftEd 35 & | At Q) @
84 3N 62 =t yftret 78 frgT 59, @) 9y

qETHAl F 3w
A) 34 B) 33
C) 30 D) 37
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186,

18,

20.

21

22

PRV LT O WEIELE WAl LTET 1 et Tt

that of 4 ladies is 63 kg and that of
6 boys is 38 kg. Find the average weight
of 15 members.

A) 54 kg

B) 57 kg

C) 60 kg

D) Can't be determined

A sum of money triples itselfin 18 years

under simple interest. What is the rate
of interest per annum ?

A) 9.09% B) 11.11%
C) 9% D@j D) 18%

If 38+P = 9 x 81 x 27, then (a + b)2 =
A) 9 B) 81

C) 196 D) 576

The difference between the present
ages of father and son is 20 years. The
ratio of their ages after 5 years will be
2 . 1. What is the son’s age at present ?

B) 15 years
D) 20 years

A) 5 years
C) 10 years

If p(x) = x* — 3x% + 4x + 5 is divided by
xZ —x + 1, then the remainder obtained is
A) 3 B) 5
C) 6 D) 8

The area of a triangle whose vertices
are A(1, —1), B(-4, 6) and C(-3, -5) is
A) 24 sq. units

B) 42 sg. units

C) O

—_ e mm o~ thnooco

" L \j'“l[ o Bl B B T O Y

18.

19,

20.

21.

22,

aﬁww%kgaﬁ{ea@ﬁ‘ﬁmw
38 kg 2 | 15 TaEd) @1 HAad W I1G A |
A) 54 kg

B) 57 kg
C) 60 kg

D) fuifa =&l feran St @bl

wsh U wrem =g & 18 @t # T
TR |y s A A T8 Y

A) 9.09% B) 11.11%

C) 9% D) 18%

gfe 3a+b — 9 x 81 x 27, @l (@ + b)2 =

A) 9 B) 81
C) 196 D) 576
firan oTR g3 &t S 31g 1 2T 20 T ¢ |

5 Y qv=Tq 3%kl 3T 1 I1qTE 2 : 18I |
FAq H g Sl g R 7

A) 5 a9 B) 15 a4

C) 10 = D) 20 a§

TR p(X) =x*—3x2 +4X + 5HRI X2 — X + 1
Y faferg foman SiTaT 8, o IT 9N B

A) 3 B) 5

C) 6 D) 8

3 s =1 et forwes wfidfag A1, —1),
B(—4, 6) 3T C(-3, -5) 2, &



24.

™2
R ]

6.

7.

28.

A) 36 cm? B) 216 cm3
C) 6cm® D) 18 cm3

If probability of an event A is 1, then
P(not A) = 3

A)

C)

The wickets taken by a bowler in
10 cricket matches are as follows :

2 6.4,5,0,8:1:3:3; 2
Find the mode of the data.

A) 3 B) 5
C) 6 D) 2
If1+1:5 and g~§:4,
X Y X Y
then (x, y) =
-5 -5 19 6
A | —, — g b
)[19 6] B)[s’sj
-5 5 5 5)
g | —= 2 R
) (19'6} < (19 6

The 20™ term from the last term of the
Arithmetic Progression 5,7, 9, 11, . ..
73,75 s

A) 35 B) —37

C) 37 D) 47

A sum of Rs. 700 is to be used to give
/ cash prizes to students in @ school. If
each cash prize is Rs. 20 less than the
Preceding one, the cash glven to the
first prize winner is

A) Rs. 140 B) Rs. 40
o N Rs. 160

24.

25.

20.

27

28.

i ;-5_""-""-""

A) 36 cm? B) 216 cm3

C) 6 cm3 D) 18 cm3

qﬁ@uﬁﬂsaﬁrgﬁm%%ﬁw(not&:
1 2

A) 3 B) =
1 1

C) & D) o

e TeaTst g1 10 ferere Bl # forg 7w feehe

:ﬁﬁﬁﬂlm%

2.8:.4.50,2,1,3,8,2

ATeRST =T FgeTeh 1d . |

A) 3 B) 5

C) 6 D) 2

ﬂﬁl+i=53ﬁTg—§=4,ﬁ(x,y)=
X VY Xy

wﬁxavﬁs,zg,n,_..?a,?séaaﬁﬁw
9 ¥ 20 §f qg 3

A) 35 B) —37

C) 37 D) 47

¥ 700 H Tfr w fremer # frefiiat )
77 SR R o A e o o & |
T R e & s, 20 9 2, 1) e

A) %14 T T R
C) %. 240 B) ®. 40

D) 3. 180



30.

a1,

32.

33.

34.

RSy AR A=

By o
c) 3 i

Add{rwg 20% of x to x is equivalent 10
Multiplying x by which of the following ?

A) 1.05 B) 12.5
C) 1.20 D) 1.15

A quadratic polynomial with

SUm of zeroes as % and

product of zeroes as -1 is

A) 4x° —x -4 B) 4x° + x—4
C) 4x° + x + 4 D) none of these
The quotient obtained when x* — 5x + 6
is divided by 2 — x? is

A) x2—2 B) —x2—2

C) 2=x2 D) x2 4 2

Half the perimeter of a rectangular
garden, whose length is 4 m more than
its breadth is 36 m. The dimensions of
the garden are

A) length =11 m, breadth =7 m

B) length =20 m, breadth = 16 m

C) length =18 m, breadth = 15 m
D) none of these

Solve 2x + 3y = 11 and 2x — 4y = —24
and hence find the value of m for which

y = mx + 3.
A) 3 B) 1
C) —1 D) *"’3

#

30.

31.

32 ¥3—

33.

34.

-1
B) >
1
2

G D)

X T x EHQO%W;.(Eﬁ[ﬁHf\HﬁQHﬁﬁ
Rped om0 o AL E

A) 1.05 B) 12.5
C) 1.20 D) 1.15

% et argad v T 1 AT -3
%S —1 8

A) 4x%2 —x —4 B) 4x? +x—4

C) 4x2+x+ 4 D) 38 & &% 7
5X + 6 3hl 2 — x2 © 9 & W YT
TS &

A) x°—2 P B) —x2 -2

C) 2-x2 + D) x2 + 2

T TR = Sl gftfy &
1T 36 M & IR R ¥ dars
4 m 3fies 8 | S & sy €
A)Flarac:ﬁm IeE = 7 m
B) wemg = 20 m, SISTE = 16 m
C) @emg = 18 m, ST = 15 m
)

[_-a
&)

D) & ¥ i3 &l

2)(+3y: ¥l 3?[( 2)(*—*4}1:—243%333‘—}@-{

y:mx+3aﬁﬁ'ﬂm‘ﬂﬁﬂmﬁﬁm

B) 1
D) -3

A) 3
G) —1
PFCF 2021

T



3

38.

39,

—

when 8 is added to jtg denomihato 4
r
the fraction is wHhien

12

A) B) /.

5
5 iy
Y 5 GRIG )

A sum amounts tp Rg.

5years at 13% p.a. Simple in
the sum is

A) Rs. 55,000
C) Rs. 40,000

terest, then

B) Rs. 50000
D) Rs. 45 000

The area of an isosceles triangle whose
base Is 8 cm and one of the equal sides
measures 5 cm is

A) 12 sg. cm
B) 24 sq. cm
C) 36 sq. cm
D) none of these

Awire in the form of a rectangle of length
7 ¢cm and breadth 4 cm is bent to form
a circle. What is the area of the circle 7

A) 38.5 sq. cm B) 36 sg. cm
C) 49.5 sg. cm D) 49 sg. cM

_ of a
The angle of elevation of thentgirhich
tower from a point on the grofuthe tower
s 45 m away from the foot @

|
s 80°, The height of the towi;é Sm

m
E _. 403 m

35.

36.

37.

38.

39.

W%aﬂz%gwm%maﬁaaﬁsww
2 Aag i

12 7
L] B) ——
A 5 ) 12
o 11
A Dy 1!
. 12 ) 12
e TR 5 a1 # 13% i o & greamor s
¥ %. 66,000 B 9 &, @ URT R
A) %. 55,000 B) %. 50,000
C) %. 40,000 D) %. 45,000

ws gafgarg S &1 aawd fge sun

8 cm 3R THH S[&3ti # 4 U 5 om 2, B
A) 12 sq. cm

B) 24 sq. cm

C) 36 sq.cm

D) 378 @ 1S 7

SIS 7 om 3EIETE 4 om a1t T STEaER
T AR ! U g6 91 & R migr s @ |
I T STG F7 R 7

A) 38.5 sq. cm B) 36 sq. cm
C) 49.5 sq. cm D) 49 sq. cm

T F R Y 45 m g 4flr T 0 foig & o
5 0 7 3o or 00 2 | TR Y Fd &

A) %m B) 45V3m
C) 30v3 m D) 10v3 m



40.

41.

42,

43.

44,

The ages of 2 persons are in the ratio 5 : 7.
18 years ago, their ages were in the
"atio of 8 : 13, then their present ages
are

A) 50 years, 70 years

B) 25 years, 35 years

C) 5 years, 7 years

D) none of these

The mean of first 12 natural

numbers is

A) 1.56 EE' B) 6.6
A ]

C) 6.5 D) 65

y IS older than x by 7 years and 15 years
th

back, x's age was g of y's age.

Present age of x is
A) 36 years
C) 21 years

B) 43 years
D) none of these

The hypotenuse of a right angled triangle
s 20 cm. The difference between lengths
of its other two sides is 4 cm. The length

of sides are

A) 11 cm, 15cm
B) 12cm, 16 cm
C) 20cm, 24 cm
D) none of these

If 3-+/3 is one of roots of the quadratic
equation, then the equation is

A) x?—6x+6=0
B) X2 +B8x—-6=0
C) x2+3x-9=0

D) none of these

40,

41.

42.

43,

44,

2 .\.Eﬁmﬁmszﬁuaaﬁ
0, 36} sy 1 19T 8 1 13 4, T I

A) 1.56
C) 6.5

y, X 87 99 o181 2 3R 15 99 qd, x il 3717
y sl A7 giﬁ | X 1 FIAHMH 3T B

B) 43 a¥
D) 574 & rg ¢

Teh eIV s sl 6ot 20 om 2 |
§Th! 7 QT TR & TS F 37w
4 cm @ | et ) dars 2

A) 11 cm, 15 cm

B

A) 36 a9
C) 21 99

12 cm, 16 cm

A) x°-6x+6=0
B) x¢+6x-6=0
C) X2+3)(—:9=O

)

D) &8 @ &g &



45.

46.

47.

48.

49,

50.

The co-ordinates of the point wh;

chdi
ihe line joining the points A-1,7), B(l:lde;
in the ratio 2 : 3 are )
A) (1.9 B) (1, 3)
6] 08 D) none of these
The value of
sin48° C0S42° + COS48° sindo° -
A) 1
B) 0
C) 2
D) None of these

The sum of the areas of 2 squares is

468 m?. If the difference of their

perimeters is 24 cm, the length of sides
of 2 squares are

A) 18 m, 12 m
C) 16m, 13 m

B) 177m, 13 m
D) none of these

In a flower bed, there are 23 rose plants
in the first row, 21 in the 2" row, 19 in
the 3 row and so on. If there are 5 rose
plants in the last row, how many rose
plants are there in the flower bed ?

A) 140 B) 190
C) 150 D) none of these

Which term of the Arithmetic Progression

-3,-8,-13,...is—787
A) 15th B) 160
C) 10t D) 14"

The number of zeroes of a gquadratic
polynomial if the graph intersects x- -axis
at 2 points is

A) 2
B) 1
C)o

D) can’t be determined

45.

46.

47,

48.

49.

50.

g foig 3 fdereh ST {eg A(-1, 7), B(4, -3)
aﬁﬁaﬁgﬁaﬁﬁ%@aﬁﬂsé?mgmaﬁ
fparfra st @

A) (-1, 3) B) (1, 3)

sin48° cos42° + c0s48° sin42° skl AT 2
A) 1 _

o ke

C) 2

D) & @ ehis el

2 Gl 3 &%l A 468 m2 § | afs 39
e =1 37T 24 cm ¥, A 2 i 3 gl 9
TS ©

A) 18 m, 12 m
C) 16 m, 13 m

B) 177 m, 13 m

D) 3 | =g &l

Tsh I TSI H, TEell Iied H 23 AT o 91,
ol ufad 0 21, dad ufed d 19 o 3t yar
o oft 2 | Ffe Afm afed § 5 e < 9 g,
a1 ST HSSTT H oot TS o a fhad ¥ 7

A) 140 B) 190

C) 150 D) 3 § 13 e

HHTGL Aot -3, -8, —13, . . . & F-TT G2

~78% 7

A) 1537 B) 164l

C) 10 =i D) 14 4T

“ﬁquﬁﬁaﬁﬁeaﬁﬁuﬁ—vﬁam
@%Hﬁﬁuangﬁﬁvﬁﬁeﬁﬂw%

A) 2

B) 1

C) 0

b) ﬂ%qﬁ%mwm

Page No. 11
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o1,

52.

D3

54.

B9;

56.

o7.

Baking powder is a mixture of baking
Soda and a mild edible acid such as

A) Gluconicacid  B) Maleic acid
C) Tartaric acid D) Fatty acid

Washing soda is
A) Na,CO,.5H,0
B) Na,CO,.H,0
C) Na,CO,.10H,0
D) Na,CO,

B0

0

Some metals can be beaten into thin
sheets. This property is called

A) metallic lustre B) ductility
C) sonorous D) malleability
Leadand are comparatively
poor conductors of heat.
A) Silver B) Mercury
C) Copper D) Zinc

s a liquid of non-metal.
A) Carbon B) Sulphur
C) lodine D) Bromine
Non-metallic oxides are in
nature.
A) inert B) acidic
C) basic D) neutral

Bases which are soluble i, water are
called

A) Pyridine B) Acids

C) Salts D) Alkalis

58

52.

SK}

54.

55.

56.

o7

feh urast, A et 3TN O WY Us

I % R |

A) RRfF e B) HelE UE
C) Tifa ufrs D) %I tfére
YT qrer @

A) Na,C0O,.5H,0

B) Na,CO,.H,O

C) Na,C0O,.10H,0
)

D) Na,CO,
O UTg i et gaen it Fr <i1ar @ |
T4 0 ) HEd & |
A) urfcres s B) &<l
C) argATeqel D) smerqadaa
e 3k SNEICERL RS
1Y & FHHAR GaEF B & |
A) =T B) URe
C) dre D) S
Teh T TR-9Tg © |
A) SrEH B) Tew
C) aeN D) sy
AT -Rerfers TfadTgey
Wehtd grel & |
A) Ffsa B) 3=y
C) & D) 3=
a0 &R S g o g B @ o ey 3
A) IS B) tfagH
C) HiceH D) Teiehedls



A) Lithium

B) Sodium

c) Calcium

D) Tellurium .g
(=

sg. Generally paper impregnated with the
~__is used for measuring pH.

A) acid-base indicator
B) redox indicator

C) external indicator

)

D) universal indicator

50. When pH of rain water is less than
it is called acid rain.

B) 5.6
D) 7.4

A) 6.5
C) 7.0

51. White silver chloride turns grey in sunlight.

This is due to the _of silver
chloride.
A) oxidation B) displacement

C) reduction D) decomposition

2 solution of acetic acid in

water is called vinegar.
A) 35— 40% B) 25— 30%
C) 15 - 20% D) 5-8%

%3. Ethanoic acid reacts with absolute
ethanol in the presence of an _—————
Catalyst to give an ester.

A) Acid B) Base

50.

60. & &Nl & UHT Skl =

)
C) T sfgahet
D) i{\r{dH(’I SIE‘;Ghd{

g &y

S 8, it 58 31eet <l 9wl Ed @ |
A) 6.5 B) 5.6
C) 7.0 D) 7.4

61. whe fieat Fiirse g & YR H U

62.

63.

ST R | IR fGeat aeiiuge &

% FRUT BT |

A) T TehLuy B) e

C) AR D) 31T

arft 3 e afire % et
ﬁ?ﬁﬂmﬁp

A) 35_‘400/0 = o

5 Ewﬁumﬁw@ﬁﬁ
B8 %mm¢{%${déﬂ%|
A) 3T s

C) s

D) YeATfeam



55,

66.

67.

i I |

' T"“"-" 11111 O LLA RS Ty ) LA Wy %d v =

A) Atomic weight

B) Atomic number

C) Atomic size
)

D) Chemical nature

is a process of heating
the ores strongly in limited air.

A) Reduction B) Oxidation
C) Roasting D) Calcination

— and caesium
have very low melting points.

A) Thallium B) Radium
C) Gallium D) Copper

is a non-metal but it is

lustrous.
B) Chlorine

D) lodine

A) Flourine

C) Bromine

68. Is the hardest natural substance

69.

70.

known and has a very high melting point.
A) Diamond B) Graphite

C) Silicon carbide D) Fullerene

s 2 amphoteric oxide.
A) Aluminium oxide

)
B) Sodium oxide
C) Potassium oxide
D) Silver oxide

Magnesium does not react with

A) hot water B) cold water

Y nvvurien 3 TR

65.

68.

69.

a0z

. ‘l"l]‘\'?}l'lﬂf\l'll""lll o B Sl IR .

A) THTIaE YR

difirg ga1 o S7aER! S TeAd

Y T R ol T TfHAT © |

q1d WTepfaes gered o
FaH F3N & I FHHT T Tga
3T BT & |

A) €T B) IrFrse

C) fufcrri= Fraiss D) peitHA
Th I affaTse ¢ |

A) TegHET ieaTse

B) aifeaw atferse

C) uRRmY fiedTss

D) focar atfauTss

iy & |1y idfsar 78

AT 8 |

A) T T



73

74,

75,

.1

A) gilver
c) Copper

B) Platinum
D) Gold

The reaction of Iron (I11) oxide it
__ isusedtojoin railway tracks
or cracked machine parts.

A) Magnesium

)
B) Aluminium
C) Manganese
D) ZinC
Carbon cannot reduce the oxides of

(8]

A) Al VRS, B) Zn

| s B
C) Sn D) Fe

is a method of protecting

steel and iron from rusting by coating
them with a thin layer of zinc.

B) Anodising
D) Phosphating

A) Tinning
C) Galvanisation

Bronze is an alloy of copper and
A) Zing B) Chromium

C) Nicke| D) Tin

The decompossition of vegetable matter

to COmpost is an example Of
"®action

A)
B

®Ndothermic
; ®Xothermic
Dz “Splacement

|

ie.

73

74.

795.

76.

A) =Tl =
C) @ .
& 91y

s (1) AT !
mei@éﬁmmﬂ;ﬁqﬁ
2 qu el o Sire ¥ g it ST e |
A) BTITEAH
B) @ﬁﬁw
C) AT
D) ST

¥, 3TTFATEE ! e HH Tal
TR |
A) Al B) Zn
C) Sn D) Fe
e 3 AR Rl STeaT i U A T &
1Y BT &leh ST & a9 6l T fafY

g |
A) fefim B) wHgrfem
C) oSy D) ®IEhien
hIE, T qey 1 T g R |
A) SET B) siftam
C) M D) o
RRRIE G LD ——
ﬁﬂ%mmww%
A) TEBiyfifs
B) Trelyfiy,
C) m



77. Plaster of Paris Is

8.

80.

81.

82.

:
4’ E
B) CaSO4.H20

A) CaSO,.-H,0
C) CaS0,.2H,0
D) CaSO4

s an alloy of lead and tin.
B) Brass

D) None of these

A) Solder
C) Amalgam

Zinc and lead are more reactive
elements than

A) Copper
C) Calcium

B) Aluminium
D) Magnesium

When fats and oils are they

become rancid and their smell and taste
changes.

A) reduced
C) decomposed

B) oxidised
D) precipitated

Magnesium ribbon burns with a dazzling

white flame and changes into a white
powder. This powder is called

A) Magnesium oxide
B) Magnesium carbonate
C) Magnesium hydroxide
D) Magnesium nitrate

Name the compound used for removing
permanent hardness of water.

A) Sodium carbonate
B) Bleaching powder
C) Sodium bicarbonate

77,

/8.

78.

80.

81.

82.

AR 311 U HEd ¢ |

A) CaSO, - H,0

B) CaSO,.H,0
C) CaS0,.2H,0

D) CaSO,

Hfr 3R o o u g R
A) Aleet B) wad
C) UHTEH D) &4 § &g Te]
ST 3 T, o feres ufdaframsfie
aed 2 |
A) dret  B) uegHiH
C) sfesray %ﬁ“’@ D) g

[ % 5]

el a1 3T A BId 8, a1 3 T
B ST B 37T 399k 1Y 371 e g2 9 § |
A) A=t B) Tl
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AT e =5 ameer 9%he worg § s

STl ®, 1 98 T YISt H gRafdd 8 s 2 |
ERRISESSS

A) BRfIrm sriegres

B) ARy wee

C) Wmifyrem grggiaarzg

D) #mfiem qrede

o AR 1 A ST R 3wn aet
TR @I 1 T W o Rorg fr s 2
A) aifeay wete

B) fsf<m ursex

C) uifsam Sgerate
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87,

88,

ooVl

) Quicklime
B) Lime stone
C)
)

D

A
~y Slaked lime
None of these

____isformed after two to three
days of white washing and gives g shiny
finish to the walls.

A) Calcium oxide

B) Calcium hydroxide
C) Calcium carbonate
D) Calcium sulphate

. Chemical formula for marble is

A) CaCl, B) CaSO,
C) CaO D) CaCO,
Our stomach produces
_. It helps in the
digestion of food.
A) Acetic acid
B) Hydrochloric acid
C) Formic acid ﬁ
) 5]

D) Sulphuric acid
Tooth enamel, made up of
is the hardest substance in the body.
A) Calcium chloride
B) Calcium phosphate

)

)

C)

Calcium carbonate

D) Calcium sulphate

- he
Chlor-alkali process 15 used for

Production of
A) NaCl
C) Na,cO,

B) HC
D) NaOH

83.

84.

8.

86.

87.

88.

EHF:*:?ILIH ‘qu‘jlqh boe B A I s L N B RS R o LR IR
IeqH T 8
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A) tfafes ufirs
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90.

I

92

Q3.

94.

e R B ]

' pMYIYUITI

action of chlorine on
A) Lime water
B) Dry slaked lime

)
C) Lime stone
D)

2 YU ey T T

None of these

Sodium hydrogencarbonate

(NaHCO,) is

A) Bakingsoda  B) Washing soda

C) Brine @sE D) None of these
%

Prempnatlon reaction produce
A) Organic compounds
B) QOils and fats
C) Soluble salts
)

D) Insoluble salts

What happens when sulphuric acid is
added to zinc ?7

A) Zn salt and water produced

B) Sulphur and ZnO are produced
C) H, gas and ZnS0O, are produced
D) No reaction takes place

2NaOH{aq}

A) Sodium zincate

B) Sodium oxide

C) Zinc oxide
)

- Zn{s} — X + H2(g}; X is

D) Zinc hydroxide

On passing the carbon dioxide gas

through lime water is formed.
A) CaCO, B) Ca(OH),
C) Ca0 D) Ca(HCO,),

90.

gl.

92.

93.

94.

afean gggem@ETe (NaHCO,) @
A) sife dret B) aTfImT Wi
D) 39 @ FIE 7

39F ! © |

garqu yfefsrand

1 BT & W Toagiich 3T i e o a1y

firerraT SraT @ 7

2NaOH{aq} + Zn(S} — X+ HE(Q}; X%
A) gifsgw e
B) @if$an aaaTse
C) fore arferarse
D) RECIECCRIES
3 & TR Y FeA TETRTES Y g H
g AT R |
) CaCO ) Ca(OH)
C) CaO ) Ca(HCO,)
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97.

98.

93.

A

) Neutral oxides
B) Acidic oxides
)

)

C) Basic oxides

D) Very reactive

- Hydrogen gas is not evolved when g

metal reacts with
A)HNO3
C) H2804

B) HCI
D) H,PO,

Copper does not react with
A) Dil.HCI B) Conc.HCI
C) HNO, D) All of these

Number of electrons in M Shell of
phosphorus is

A) 3 B) 5
C) 6 D) 7

Cinnabar is an ore of
A) Copper

B)

C) Mercury
D) Lead

Zinc

- ____ores are changed into oxides

by heating strongly in limited air.
A) Sulphide

B) Carbonate

C) Oxide

DY Chineida

J3.

96.

97;

98.

89,

100.

B —
A) ST ATFETEE

B) ufatesh ariadrgs

C) sfaen AiaamEs
)

D) afa ufatrarefta
SEEAERIR % a1 TiaRan s
2 @ grEgeE e T S R |
A) HNO, B) HCI
C) H,SO, D) H,PO,
T & o yfafrar T8 = R |
A) Dil.HCI B) Conc.HCI
C) HNO, D) 3 a4l
FERE 3 M e O Sl oht T&Al
Bl ® |

A) 3 Wi B)S
C) 6 E-E D) 7
e 1 Ueh 3T T |
A) qTa
B) ST
C) e (wagll)
D) drar
g a1g A geerar @ T HH W

_ 37gEhl &l ITEETSS
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PHYSICS
101, Which is the ultimate source of energy
A) Water B) Sun

C) Uranium D) Fossil fuels

102. The r:adius of curvature of a
Spherical mirror is 20 cm. What

IS its focal length ?
A) 20 cm
C) Scm

B) 10 cm
D) 40 cm

103. You are given kerosene, turpentine and
water. In which of these does the light
travel faster ? (Given : refractive indices
of kerosene. turpentine and water are
1.44,1.47 and 1.33 respectively)

A) Water [ﬂglﬁl
LA g Yy,
B) Kerosene [l
C) Turpentine
D) It does not travel, it reflects to the
same media

104. A convex lens forms a real and inverted
iImage of a needle at a distance of 50 cm
from it. Where is the needle placed in
front of the convex lens, if the image is
equal to the size of the object ?

A) +0.5m B) -05m
C) +025m D) —0.25m

105. Which one of the following materials
cannot be used to make a lens ?

A) Water
B) Glass

C) Clay
Ny Plastic

HIldeh 1A

101, Froit o1 et Gia F1 8 7
B) &

A)
C) qfram D) e {4

102. qarhawa&mﬁamﬁm20cm%|
Fah! HikE gl H1 & 7
A) 20 cm
C) 5cm

103. 39 U, 2ierg 3R st fean S )
1 @ fope rprer Aoft @ e @ 7 (R R
SR, T9-eTsT 3T ST o ITqadHTh AT
1.44, 1.47 31R 1.33)

A) ST
B) Rl

)

)

) AT

D) 9% =reAdl =l &, 98 391 qiegw o watag
MG

104. TF 30 ¥ 389 50 cm T UF g3 F
aredtereh A 3o wfafsre s @ | o8 39
o9 & w R T T R, At wfifie T
o 3TN & SR B 7

B) 10 cm
D) 40 cm

@)

A) +0.5m B) ~0.5m

C) +0.25m D) -0.25m
105. f=ferfiad & & frg geref =51 v

ot S o fore i o s 3 7

A) S

B) &

C) gl

D) wifes ]
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108.

uniform area of cross-section A has
-esistance R. Another conductor
of length 27 and resistance
R of the same material hag
qrea of cross-section

% |

A
—  [E&E B

V2R '8

C) 3A D) 2A
“The heating element of an electric iron
s made up of

A) Copper B) Nichrome
C) Aluminium D) Iron

An electric bulb is connected to a 220 V
generator. The current is 0.5 A. What
is the power of the bulb ?

A) 440 W B) 110 W

C) 55 W D) 220 W
. Magnetic effect of current was discovered
by

A) Oersted B) Faraday

C) Bohr D) Ampere

Which of the following mirror is used by
a dentist to examine a small cavity

A) Convex mirror

B) Plane mirror

C) Concave mirror

D) Concavo convex lens

- The S| unit of resistivity is

A) Ohm meter
B) Per ohm per meter
C) Ohm per meter

My e

106.

107.

108.

108,

110.

114

QEE I'(?Fﬁﬁ s MR s plog ba b I e T e T bt S B
TS AT ST H yRY R R | A1

o) ot yftRiy R oot et Tere 1 AT

 eTe B R
A 3A

A) 2 ® 3

C) 3A D) 2A

e fargd gl &1 FEAT A

[ 1 BT @ |

A) s B) TgshA

C) wegHifEm D) ST

e o wed T 220 V o S A g T |
R 0.5 AR | 5os Sl TiFa 1 & 7

A) 440 W B) 110 W

C) 55 W D) 220 W
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A) TS B) %S

C) s D) wfier

TS Bl hiafe a1 &0 i & e Tk
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A) 3T U]
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A) W ey
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112, The potential difference bel
terminals of an electric heater
when it draws a current of 4 A fror
source. What current will the “eat?r
draw if the potential difference 15
increased to 120 V ?

A) 10 A B) 8 A
C) 6 A D) 4A

weenthe
is 60 V
n the

113. Calculate the total resistance

In the circuit. Given :

91 =10 Q2. F{2=4OQ,
RS = 30 R, =20Q,
Rs=60QandV=12V.

R,
MWWy

F{Z
MWy

Iy
!
+

i

f —

-

>=9%)
,

A) 10 Q
C) 18 O

B) 8Q
D) 25 O

114. A student wants to extract energy from

fossil fuel. Which process woy|d help him
to extract the energy from fossi fuel ?

A) Burning
B) Crystallisation
C) Condensation

.
- P L B0 | P AP

112. Uk 'ﬁgﬁgﬁa%{;gﬁqﬂ$&'{lﬂqﬂl EE LI
60 V 2, alaamﬁﬁﬁ:im%rgﬁmﬂaﬁ
i 2 | afe frwarat st 120 V @ sl
‘mm%,ﬁﬁa%ﬁﬁgﬁmﬂdﬁm?
B) 8A

D) 4 A

[El#(E]

113, gfcaer 8 sper wfadig i MO AT |
femd: R, =10Q,R,=40Q,R;=30¢,

R,=20Q, R, =60QARV =12V

A) 10 A
C) 6A

H‘]

WW

RE

4 MWWy

®
RE
AW ——
—+—(-} AN 4
a.mﬂfl

114, T fenefl st $em @ wrort ey s
SEdt @ | St $6m @ st Rty g 3
- s et e e 7
A) ST
B) Isheeciie
C) udleq



1
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6.

e &

T s i LT Ihuﬁ

2 (2, 3 Q and 6 Q2 be connected to give
a total resistance of 4 Q3 ?

Where should an object be p1aped in
front of a convex lens to get a real image
of the size of the object 7

A) At principal focus Of the lens

B) At twice the focal length

C) Atinfinity |

I 19.

116.

HINI™ T

4 € a1 et SR St o o Sht 1S el & 7
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17 Which of the followin

118

114,

120.

121.

q type of Mimo! .

used in solar furnace
A) Concave

B) Convex
C) Plane
)

D) Cylindrical

An object of 5 ¢cm in length s held
25 cm away from a converging lens of
focal length f. The image is formed ata
distance of 16.67 cm on the other side
of the object placed. The value of fIs

A) + 10 cm B) —10cm

C) +5¢ E: D) —50m
-

The far point and near point of the
human eye with normal vision are
respectively

A) Infinity and 25 cm
B) 25 cm and infinity
C) 25 cm and 50 cm
D) 60 cm and 25 cm

The change in focal length of an eye
lens is caused by the action of the

A)
B)
C)
D)

Pupll
Retina
Ciliary muscles

Iris

Which of the following IS not attracted

A) Steel

. Pl LD

B) Cobalt

My aoes

114,

118.

119,

120.

121.

oy o1 e 7 @ P -§1 TR HITWE
SR BN € 7

A) FHeae

B) v

C) grad

D) SR

5 cm e aTeft Teh I 1 B gl £ &
Tk AT ot T 25 cm gl W1 |
a7 % gadl 31T 16.67 cm 1 gl T Hfciferm

FAATR | f T OH &
A) + 10 cm
C) +5cm

B) —10cm
D) —5cm

T g o AHd 43 &1 g fog o e
ECES A

A) 3Td IR 25 cm

B) 25 cm 3R 34

C) 25 cm 3R 50 cm

D) 60 cm 3 25 cm

¥ oY & Bid T § afads g s 3
g e 7

A) e

B)

C) Rrefier niaufirat

) TEhE
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current, then

A) there are circular magnetic field I
around it lines

B) there are magnetic field lines par
to the conductor paralle|

C) there are no magnetic field lines
D) none of the above

_Why is Biogas considered as a good

source of energy ?
A) As it produces ashes
B) As it produces methane

C) As it burns without releasing
smoke

D) As it decomposes in the
absence of oxygen

. Rihaan can use any source of energy

for cooking, but he wants to avoid
production of smoke from the source.
Which of the following sources should
he use for cooking ?
A) Coal

C) Petroleum

B) Wood
D) Electricity

. Which of the following processes explains

the extraction of the sun’s energy to

generate energy to light a bulb ?

A) Conversion of electric energy into
solar energy

B) Conversion of solar energy to
electrical energy

C) Conversion of solar energy into

kinetic energy
D] Cnnuarsinn ~f kinatic BﬂBfQ}’ into

| ZZ. IS L9 X119 Tvesaara g

123.

124.

125.

A) g T 3 e e & T
gl ©

B) =Ter 3 WATCT Jarehr & Yard @il &

C) e & Tard T et @

D) I # & s Tl
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ST @ 7
A) i TE T IeTia KT
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C) Wfvam @Say D) fama
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126.

=g,

130,

1370

tis its

If the power of a lens is — 2D, wha
tocal length ?

A) + 50 cm B) — 100 cm

C) —~50¢cm D) +100 cm

The black opening between the
aqueous humour and the lens
S called

A) Retina
C) Cornea

B) Iris
D) Pupll

A rectangular coil of copper mtrires_ S
rotated in a magnetic field. The direction

of the induced current changes once in
each

A) two revolutions
B) one revolution
C) one-fourth revolution
D) half revolution

At noon the sun appears white as

A) Light is least scattered

B) All the colours of the white light are
scattered away

C) Blue colour is scattered the most

D) Red colour is scattered the most

A wire of length I, made of material
resistivity p is cutinto two equal parts. The
resistivity of the two parts are equal to

A) 4p B)
C) 2p D) p

An object is placed at a distance of 0.25 m

in front of @ plane mirror, The distance
between the object and image will be

A) 0.25m B) 1.0 m
C) 0.125m D) 0.5 m

126. ot ws o &t wifeaq — 2D ®, a1 §6h!

127.

128.

2

130.

1371

hlehe] TaTs 97 & 7

A) + 50 cm B) — 100 cm
C) —50 cm D) + 100 cm
g g R gy
FHEATAT ® |

A) e B) i

C) wiffa D) =¥

qlel o T <Al Tk ITTIATRR FHScl| Ueh gashiy

& o gETs STt ® | Wi foega Y e v
T Jedd! © |

SO § I The 5@Ts <t ® iR
A) SERTET ST =FaH TeHUH graT 2
B) v wertyt & @uft 11 wehifolg g &
C) et T watfe wehifha giar 2
D) ofret 1 waiftrer wehifofa g @

qerel WieRigshal p 3R &S [ 9Tt
ek TR shl &1 §HE 9T § Sh1eT 1747
T | g1 T oY wierierendr ®

A) 4p B) &

2
C) 2p D) p

T S T THAS <491 & gHY 0.25 m &
< Tl & | g S R o B
il

A) 0.25m
C) 0.125m

B) 1.0m
D) 0.5m

T
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132, The angle of incidence for a ray of light

134.

135,

136.

having zero reflection angle is
B). B0=
D) 90°

A) 0°
C) 45°

. The nature of image formed by a convex

mirror when the object distance from the
mirror is less than the distance between

pole and focal point (F) of the mirror
would be

A) Real, inverted and diminished in
size
B) Real, inverted and enlarged in size
C) Virtual, upright and diminished in
size
D) Virtual, upright and enlarged in
size o
£,
:[E]
The refractive index of water is 1.33.
The speed of light in water will be (given

speed of light in vacuum = 3 x108 m/s)
A) 1.33x108m/s B) 3x 108m/s
C) 226 x 108 m/s D) 2.66 x 108 m/s

Magnifying power of a concave lens is
A) Always > 1

@,

Always = 1

)
B) Always < 1
)
D)

Can have any value

The instrument that use to detect electric
Current in the circuit is known as

A) Electric motor
B) AC generator
C) Galvanometer
D) None of the above

133.

134.

185,

136.

Page No. 27

379 I §

A) 0° B) 30°

C) 45° D) 90°

o e ador 10 & wfferst Y srehfet stet 2o
3 aeg 1 gl YA R e foig (F) & <=
&) g0 | &4 Bl

A) dTEdfeeh, 372 S HT H B
B) aTfedh, 3cal 3R ATHR H a3
C) e, Eiefl 3R 3THR H Ben
D) T, Hieft TR THR | w2

T & AYFAATEH 1.33 8 | 1A T W79

3 x10% m/s)
A) 1.33x 108 m/s

C) 2.26 x 108 m/s

B) 3x108m/s
D) 2.66 x 108 m/s

T ATTA o9 ) ey vifgy @
A) EF > 1

B) WeT < 1
C)H%a::'l

D) 3 4l 71 & meparr 3
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137. AC generator works

A) Force experienced oy
in magnetic field

B) Electromagnetic induction

C) Electrostatic

D) Force experienced by a charged
particle

on the principle of
a conductor

138. Fossil fuels are

A) Non-renewable resources
of energy

B) Renewable resources of
energy

C) Both (A) and (B)
D) Neither (A) nor (B)

139. 1 kilowatt hour =
A) 3.6 x 10% joule
B) 3.6 x 102 joule
C) 3.6 joule
D) 3.6 x 109 joule

140. Hydropower plant are located in the
A) Desert area
B) Hilly terrains
C) Plane area

D) None of these

141. A battery of 10 V carrigg 20,000 C of

charge through a 'esistance of 20 Q.
The work done in 1¢ seconds is

A
A) 2 x 10° joule B) 2 % 104 joule

..
Clzxijodle by 54 qo2inuis

137.

1.38.

139.

140.

141.

AC S
FLAT B |

% THGId 9T %

A) T TTeTeR FI et & H AT iy

T sled

B) fergga ey SRom
C) forga wfcren

D) & 31T foTes g A fohT T aey

1 kilowatt hour =
A) 3.6 x 10° joule
B) 3.6 x 102 joule
C) 3.6 joule

D) 3.6 x 109 joule

SREICSESCE]

A) e 8
B) vddi swae
C) Agr &

D) $TH @ i3 e

Th 10 V &l ot 20,000 C &1 37337 20 O
o Wiertyr 8 52 shtell © | 10 Yebvg 3 fray 74

el 2
A) 2 x 103 S
C) 2x 105«

B) 2 x 104 5[«
D) 2 x 10?5
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142. TwO devices are connected between
two points say A and B in parallel. The
physical quantity that will remain the
same between the two points is
A) Current

B) Resistance

C) Voltage

D) None of these

143. Calculate the current through the 10 £
resistor in the following circuit.

20 Q

10 Q)
A A B
5Q

6V
A) 1.2 A B) 0.2 A
C) 0.6 A D) 2.0 A

144. If R, and R, be the resistance of the
filament of 40 W and 60 W respectively
operating 220 V, then
A) R, <R, B) B2 By

D) R, <R,

145. What is the maximum resistance which

can be made using five resistors each
1

of =) 2

5
A) l.Q B

. ) 10 Q
C)1a D) 5Q

142.

143.

144,

145.

g[gféﬁa—ﬁwa'{ﬂﬁkamum ISqH1 b ST
ﬂtﬁ% |ﬁg%ﬂﬁ!’&:“ﬂm3ﬁa%§3ﬁéﬁaﬁa
o wl

p) faga ¥td

A) 1.2A B) 0.2A
C) 0.6 A D) 2.0 A
afx 220 V w1 alE=Tied & ardd 40 W 3R

60 W 3 dgail ¥ shriy A R, 37 R,
5,

A) R, <R, B) R; = R,
C)Ry=R, D) R,<R,
T~ T o s o A
ST ST Hh aTety a7fRraram wfody =T 2 7
A) =0

5 B) 10 O
C)1Q

M 50



146.

147,

148,

149.

150.

When light rays enters the eye, most of
the refraction occurs at the
A) Crystalline lens
B) Iris
C) Outer surface of the cornea
D) Pupil
When white light enters a
glass prism from air, the
angle of deviation is least for
A) Blue light
B) Yellow light
C) Violet ight
D) Red light
The least resistance obtained by using
28,40 1Qand 100 Qs
A) <100 Q B) <4Q
C)>20 . il p)<10
4[]
The energy efficient device for producing
light is
A) DLF B) CFL
C) FCL D) LPG
If nrresistors each of resistance R are

connected in paralle| Combination, then
their equivalent resistance is

R n?
A) —= B} ~2-
4 R

N
C) 5 D) R
N

'an'é-—r _ wE@E
A) eyl ofa
B) smsia
C) whifHar = arel I3
D) wfuet
147 mﬁﬁwaﬂﬁﬁ'ﬁa%ﬁﬁmﬁ“&;
T B, d fa="eH S
for, e BT B |
INEIGIREaL
B) Y Wehtel
C) st gemraT
D) <ITed JehTaT
148, 20,4 Q, 1 Q3 100 Q 1 ST Feh I
=[IaH Tl
A) <100 Q B) <4 Q)
C) >20Q D) <1Q
C) FCL D) LPG
150. 3t W=t R Wikt a1t 1 whrdiers: v
éﬁwﬁaﬁémﬁ%,aﬁmw””"[
oty ?
R 2
A) -HE B) %
n
9 R ) R
n



PULT LT ¢: HARWS Uifercidaed Uder Uidaiferar uda
2018, 2019, 2020 31X 2021 % IRT AT & UL UF JAT 3T

ER'G-’II ol www.|harupdate.com UL SIlch{ SI5cIclls B dhd

S UeIdic|

L]

Jharkhand Polytechnic Question Paper 2021 - Download

Jharkhand Polytechnic Question Paper 2020 - Download

@

Jharkhand Polytechnic Question Paper 2019 - Download

@

7]

Jharkhand Polytechnic Question Paper 2018 - Download

(7 jharupdate.com




Answer Key for PECE 2021

Question No.| Answer Key Question No. | Answer Key Question No. | Answer Key
i A 51 | C | 101 B
2 D 52 C 102 B
3 B 53 D 103 A
4 B 54 B 104 C
5 D 55 D 105 C
5 A 56 B 106 B
7 C 57 D 107 B
8 D 58 D 108 B
9 C 59 D 109 A
10 B B0 B 110 C
11 B B1 D 111 A
12 A B2 D 112 B
13 C 63 A 113 C
14 A B4 B 114 A
15 B E5 D 115 C
16 B 66 & 116 B
17 B 67 D 117 A
18 B 68 A 118 A
19 B 69 A 118 A
20 B 70 B 120 C
21 D 71 D 121 C
22 A 72 B 122 A
23 B 73 A 123 C
24 B 74 C 124 D
25 D 75 D 125 B
26 D 76 B 126 C
27 C i A 127 »
28 D 78 A 128 D
29 D 79 A 128 A
30 C 80 B 130 D
31 A 81 A 131 D
32 B 82 A 132 A
33 B 83 [ 133 C
34 C 84 S 134 C
35 C 85 D 135 B
36 C 86 B 136 C
37 A 87 B 137 B
38 A 88 D 138 A
39 B a9 B 136 A
40 A 90 A 140 B
41 C 91 D 141 C
42 A 92 C 142 C
43 B 93 A 143 C
44 A G4 A 144 D
45 B 9% # 145 C
46 A g6 A 146 C
47 A g7 A 147 D
48 A 68 B 148 D
49 B 99 C 149 B
50 A 100 B 150 p




